Exercise 5.5
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= i(logq) = i{cosx log(sinx)}
dx dx
1 dq . . 1
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- Z_z = (sinx)°**~1[—sin?x.log(sinx) + cos®x] ....... (iii)
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" Z—Z = xS ~1(x. cosx.logx + sinx) + (sinx)**~1[—sin?x.log(sinx) + cos? x] Answer
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Siax = XCOSX.2 + (cosx — xsinx)logx
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= ax = COSX + (cosx — xsinx)logx
d :
= ﬁ = p[cosx + (cosx — xsinx)logx]
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o, g =2t
VIN, q = x2-1
= dq _ (x?2-1).2x—(x2+1).2x
dx (x2-1)2
d —4
== D, (iit)

dx (x2-1)2

(i) F [ A =8,



dy _ dp , dq e
dx  dx = dx [i)oq (iii)F STTTS]
. d_y — XCOSX _ . _ —4x
" X [cosx + (cosx — xsinx)logx] Y

1
11. (xcosx)* + (xsinx)x
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Solution: ¥91R°9, y = (xcosx)™ + (xsinx)x ....................

1
912’ p = (xcosx)* A q = (xsinx)x
=~ logp = xlog(xcosx)

= :—x(logp) = :—x{xlog(xcosx)}
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dp _ L — xsi
> — =D [log(xcosx) +—.(cosx xsmx)]
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Z—Z = (xsinx)% [— x—lz.log(xsinx) + xiz + C(;tx] .................. (iii)
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a Z—z = (xcosx)*[log(xcosx) + 1 — xtanx] + (xsinx)% [— xiz.log(xsinx) + xiz + C';tx] Ans.



